A LITTLE BIT OF MATHS EVERY DAY ... (CROSSOVER)

MoNDAY | TUESDAY WEDNESDAY THURSDAY FRIDAY SATURDAY SUNDAY
1 2 1 2 3
Calcnlate: Factorise -lel\,l If T iwvest £4500 Ed bought 2 tins of paint and 3 brushes at a total cost of
2 at a compound £15.50
FEBRUARY 2019 2 3 3 '\%ﬂlﬂ + 27”"0 interest rate of Amir bouglht 1 tin of paint and 1 brush at a total cost of £6.
1 -4 — = Z—v 457 Now much will Caleulate the price of a single +in of paint and the price of
5 4 % qab (2' + 3b:) T have after 2 one brush. G lensh. £8-50
294 a3 vears?f LAMWe< L) Pount £2-50
Y 5 L W W 7 8 9 10
How long will it +ake work out the value of Solve A cube has a side Simplify fully Emma, Hannah and Julia share £54.
+o do 2.0 wmiles levgyth of 2em. Hawah gets three times as much money as Emma,
+ [ +3 ' .
travelling at 20 wiles | (6> 10°) + (4 < 10) 1 - 4;'): G:;w« 2 Caleulate it+s surface m? x mé ms Julia gets twice as much money as Hawah .
min ¢ nto® _— How much mouey does Julia get?
per honr? BO™S o Iy < 1Of area 3
30 mues = ikouf‘ ;.._. —ou/k‘ [T T8 2 m & H T Ec&S-u0 éolwu 3240
(Omites = Ddmins® ] 6 RIOF Skem E 3E & H=16:20
Dmdes = Lhmens 4y 12 B M 15 16 7
A4 ;:v; Lao;lfgf vgtksc:fvs Without a Find the Lowest what is the Fth Evaluate: . - A vethall 1'62‘/‘/1 i}[ﬂaqeq{ six @am@s.M -
15 o9 i . 0, 53 e mean score for the six games is 14.
A G pint borte of milk costs | Caloulator, work Common WMaltiple prime number? 2%x3” B The +eam plaed one wore qame
2L £174 B-u8 out: (LCW) of 32 and 49 The mean score for all seven gfwm i‘s 16112
: " ) 326490 2 A
which bottle of wilk is +he 157 X 54 “ o 3 27 7 Work out the number of points +he +eam scored in the
vest VMEE fcrmmew? BLIR nels * seventh aame 25
O N
v 18| 3\-\8 13 22 19 20 n n 3 ¢0,600mL. M
Simplify The levgth of the Caleunlate: Put in size order (smallest A square has a There are O litres of water in a barrel,
50 -2(24+ 6) r@ammle is d om. uzzoh) Imggsg':‘as | perimeter of 2@cm. | The water flows out of the barrel at a rate of 250
3 The perimeter of the 1 2 | 432 x10°  A42 x40 what is its area? millilitres per second.
Sa - ba -l rectangle is 31 cm. 3=—X == lﬁ 4IPo0, . 1 litre = 1000 millilitres.
8 : , 3% 10> D.004T3 It - 490wt litre
-o - what is the width of the 8 5 0-00u33 LI}BxIO™S N Work out the time it takes for the barrel to empty
rectangle? b Sem| é x ,-? 2 ©_\2 4.3 2103 633 O completely. 2408e00ndo0 .
5 % & v & 187 28
Expand & simplify | Lois andRobert share a Caleulate: Factorise fully
sum of money in the ratio .
(3x-1)(x + 5) s ) 3 @b + 27002 REMEMBER: THE BEST WAY TO REVISE
o w w
dxcte1Sac-2e -5 What fraction of +he 1=+ — cops). repeads ... MusH MATHS ISTO DO MATHS !
3octeluxe-S movey does Robert @, 5 4 . P?’dj
> receive? moreatinkien !
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